
GRATING ANCHOR IN 
CENTER AT INTERM 

SUPPORT

SUPPORT
STEEL, TYP

GRATING ANCHOR, REFER 
TO GRATING NOTES ON 

SECTION X/SX.XX

℄ 
PI

PE

℄ PIPE

BAND OPENINGS W/
4"x1/4"TOE PLATE

PLAN

SEE

SPAN DIRECTION, REFER TO PLAN

PA
NE

L 
W

ID
TH

AD
JA

CE
NT

 S
HE

ET
1/

4"
 M

AX
 B

ET
W

EE
N

PL
AN

SE
E

AT SHEET ENDS
1" MIN BEARING 3/8" MAX GAP

1 1/2" STD PIPE RAILING, 
SPACED AS SHOWN

1 1/2" STD PIPE POST 
AT 4'-0" O.C. MAX

0'
 - 

4"
M

AX
0'

 - 
0 

1/
4"

1/4"X4" TOE 
PLATE

(2) 3/4"Ø BOLTS

0'
 - 

3"0'
 - 

3"

GRATING OR 
FLOOR, SEE PLAN

EQ
EQ

3'
 - 

6"

3/8" BENT PL

PLAN
SEE

L3X3X3/8X0'-2 1/2" EA SIDE, 
PROVIDE (1) 5/8"Ø HILTI KWIK 
BOLT 3 INTO CONC, 4" EMBED

10
" M

IN

EQ
 S

PC
S 

@
 1

'-2
" M

AX

LADDER

10
'-0

" M
AX

PL 1/2"X3" 
LADDER RAIL

F/BM WEB OR F/WALL

LADDER RUNG DETAIL

1/2" 
BENT PL

1.

2.

3.

NOTES:
CONTRACTOR SHALL SUPPLY AND INSTALL 
SELF-CLOSING SAFETY GATE FOR EACH 
LADDER
LADDERS EXTENDING MORE THAN 24'-0" 
ABOVE A LOWER LEVEL SHALL BE 
EQUIPPED WITH A PERSONAL FALL ARREST 
SYSTEM OR A LADDER SAFETY SYSTEM.
LADDERS ARE DESIGNED TO COMPLY WITH 
OSHA 1917.118 AND ANS A14.3. SEE 
SECTION10 ON SHEET S0.03 FOR LADDER 
GENERAL NOTES AND SPECIFICATIONS.

PLUG WELD AND 
GRIND SMOOTH

0' - 8" 0' - 8"

0'
 - 

7"
 M

IN

LADDER

SECURE w/ (1) 5/8" HILTI KWIK 
BOLT 3 INTO CONC, MIN 4" EMBED 
OR FIELD WELD TO T/STL BM

EL (SEE PLAN)
T/RUNG, T/PLATFORM

EL (SEE PLAN)
T/FLOOR

LADDER RAIL SHALL BE 
CONFIGURED AS INDICATED AND 
(3) ADD'L LADDER RUNGS 
INSTALLED FOR SIDE ACCESS 
DISMOUNT

3/4" DIA RUNG

RUNG

T/RUNG

LADDER ELEVATION

TYP

1' - 0"

TYP

0' - 8"

3/4" Ø A325 BOLTS AT STL 
OR 3/4" Ø HAS THRD ROD 
W/ HILTI HIT-HY200 AT 
CONC, 4" EMBED

TYP

0'
 - 

7"

0'
 - 

4"

FLOOR DECK, SEE 
PLAN FOR REINF 

1/2"Ø x 6" LONG 
HSA @ 18 OC

1/4" BENT PLATE

3/16 2 - 12
3/16 2 - 12

STEEL BEAM, SEE 
PLAN FOR SIZE

SEE PLAN
FLOOR DECK OR ROOF 

DECK, SEE PLAN FOR 
SIZE AND REINF 

3/8" BENT PLATE

3/16 4 - 12
3/16 4 - 12

STEEL BEAM, SEE 
PLAN FOR SIZE

3/4" Ø HAS THREADED ROD @ 
18" OC. DRILL AND EPOXY W/ 
HILTI HIT-HY200, 6" EMBED

SHEAR WALL, SEE PLAN

TIE BEAM, SEE PLAN

1/4" BENT PLATE x 0'-6" @ 
6'-0" OC, MAX, EA SIDE, AND 
WITHIN 1'-0" OF PERP BEAMS

CONT GROUTED BOND 
BEAM W/ (1) #5 CONT.

0' - 0 1/16" CLR EA SIDE

STEEL BEAM

3/16 3"
3' - 0"

0'
 - 

1 
1/

2"

36/3 PATTERN

TYPE "C" DECK

36/4 PATTERN

36/5 PATTERN

36/6 PATTERN

36/7 PATTERN

FLOOR DECK FASTENING PATTERN
BUILDING ZONE FLOOR  DECK MINIMUM FASTENING PATTERN

ROOF 1 36/7 3/4" PUDDLE WELDS WITH (10) #10 TEK SCREW SIDELAPS

FLOOR 1 36/7 3/4" PUDDLE WELDS WITH (10) #10 TEK SCREW SIDELAPS

1 1/2" STD PIPE RAILING, 
SPACED AS SHOWN

1 1/2" STD PIPE POST 
AT 4'-0" O.C. MAX

0'
 - 

4"

M
AX

0'
 - 

0 
1/

4"

1/4"X4" TOE 
PLATE

3/8" BENT PLATE W/ 
(2) 3/4"Ø BOLTS

0'
 - 

3"0
' -

 3
"

GRATING OR 
FLOOR, SEE PLAN

EQ
EQ

3'
 - 

6"

PLAN
SEE

1/4" CIRCULAR 
CLOSURE PL W/ 

5/8" Ø WEEP HOLE
2" STD PIPE SLEEVE

3/16

3/16 3-12

C6X8.2
CONC FLOOR 

DECK, SEE PLAN
METAL BAR 
GRATING SEE, PLAN

AMALGAMATED SUGAR COMPANY
2320 ORCHARD DRIVE EAST
TWIN FALLS, ID 83301

4990 Royal Gulf Circle
Fort Myers, FL 33966

Ph: 239.768.1778, Fax: 239.210.2168
http://www.veiglobal.com

2

3

4

1

5

Revision:

Title:

Date:
Chkd By:
Dsgn By:

Project:
Dwg:

KJHGFEDCB

6

A

7

24X36

Dwg Size:

L

C:\Users\dviele\Documents\E24140 ASC Evaportator STR R25 backup_dviele@veiglobal.com.rvt

D

AMALGAMATED SUGAR COMPANY EVAPORATOR PROJECT
STRUCTURAL STEEL FRAMING DETAILS AND SECTIONS

07/01/2025
S. WILSON
D. VIELE

E24140
S5.03

PRELIMINARY
NOT FOR

CONSTRUCTION
2 JULY 2025

No. Date By Revision Ad. No.
A 2025.04.11 DV ISSUED FOR APPROVAL (70% CHECKSET)
B 2025.04.25 DV ISSUED FOR BID
C 2025.06.20 DV OWNER COMMENTS
D 2025.07.02 DV ADDENDUM 1

 1" = 1'-0"1 TYPICAL GRATING SUPPORT DETAIL
 3/4" = 1'-0"2 TYPICAL HANDRAIL DETAIL AT BEAM

 3/4" = 1'-0"3 TYPICAL STEEL LADDER DETAIL

 1" = 1'-0"4 TYPICAL SLAB EDGE AT BEAM (GIRT WALLS AND OPENINGS)
 1" = 1'-0"5 TYPICAL ROOF/FLOOR DECK EDGE AT BEAM (SHEAR WALL)

 1" = 1'-0"7 TYP NLB CMU WALL AT BEAM
 1" = 1'-0"8 ROOF  AND FLOOR DECK FASTENING SCHEDULE & PATTERN

 1" = 1'-0"9 TYPICAL REMOVEABLE HANDRAIL DETAIL AT W-SHAPE

 1" = 1'-0"6 SECTION AT GRATING EDGE


